
j8f g+= % sf] of]hgf tyf sfo{qmdsf] ljj/0fx? 

;8s tkm{sf] of]hgfx?  

qm=;= of]hgfx? ah]6 s}lkmot 

1 j8f sfof{no hfg] af6f] lgdf{0f  200000 gofF 6«ofs  

2 ldng 6f]n ;8s ;'wf/ 100000 :t/f]GgtL 

3 ;'Gb/ 6f]n ;8s ;'wf/ 100000 :t/f]GgtL 

4 af]b\n] vf]nf sNe{6 lgdf{0f 300000  

5 & j6f RCC k'n lgdf{0f  1400000  

6 gfaf]s c?kft] ;8s :t/f]GgtL 500000 :t/f]GgtL 

7 d'xfgkfFvf ;8s 300000 :t/f]GgtL 

8 gfaf]s cf?kft] b'ªs/L ;f]lnª 500000 :t/f]GgtL 

hDdf /sd 3400000  

 

cGo tkm{sf] of]hgfx?  

qm=;= of]hgfx? ah]6 s}lkmot 

1 vfg]kfgL  100000  

2 kmf]hf{ª PNofg sNe6{ 800000  

3 b'uf{ dlGb/ 100000  

4 9'+u]Zj/L dxfb]j / ;]tL b]lj dlGb/ dd{t  100000  

cGo tkm{ hDdf /sd 1100000  

hDdf /sd ?=$%,)),))).– 

 


